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IN IHE LAS! IHREE DAYS , YUU SHOGLD HAVE GIVEN HIM MORE MILK,

LV SHOULD BE SUCCE SS’W' WHEN IMPLEMENTED .
ERROR IN ABOVE SENTENCE 4
PARSE HALTED WITH =

{ADVPS (ADVYP {(CPREP INI{NP {(CNP NT ADJS |

CqW(

ASE) ) LAD (ADJ (Q THREE))))(NNES (N DAYS)

JIIIINP=B 4)))INP {CNP (PRN YOU}))IVG LAUX (AUXT SHOULD

F{ADJT MORE)(N MILK)
4"!@ gp's ® o

THE ANALYSIS WILL BE REPEATED WITHE TRAC: 000

{AUX (AUXT HAVE))(V GIVFN))(PRN HIM)(NP R
N, ﬁﬁg@..@@ pro—

& il

TRSENT IS INITIALLY : *{(CPREP IN)ININT THE)(ADJT LAST){Q THREE){N DAYS)(NP-B ,)(PRN YOU)(AUXT SHOULD){AUXT HAVE)(V GIVEN)}(PRN HIM)(A
CLIST IS INITIALLY : NINTS$ADJTSQSNSNP-BEPRNSAUXTSAUXTSVEPRNSADITENS<$<S
FIRST ELEMENTY Ad HERAD BF, CkISK WAS = CPREP

ACTION = S48 NEXTC =-CPREP
ACTION = S4 NEXTC = NINT
ACTION = S8 NEXTC = ADJT
ACTION = R1ADJ, NEXTC = Q

REDUCTION =
TRSENT BECOMES 3
(CPREP IN)ININT THE) (ADJ (ADJT LAST)I)*(Q THREE)(N DAYS) (NP=B ,)(PRN ¥OU)(AUXT SHOULD)(AUXT . HAVE)I(V GIVEN)

{PRN HIM)(ADJT MORE)(N MILK)
NEW STACK : 4%48%1%$

ACTION : G13 LAST = ADJ
ACTION = 89 NEXTC = Q
ACTIGN = R1ADJ, NEXTC = N

REDUCT ION =

TRSENT BECOMES :

{CPREP IN)(NINT THE){ADJ (ADJT LAST))(ADJ (Q THREE))#*(N UAYS)(NP B ,) (PRN YOU) (AUXT SHOULD)(AUXT HAVE)
{V GIVEN)(PRN HIM){ADJT MORE)(N MILK)

NEW STACK : 13$4%4861% , & % F r or :
AGTEION = i3 LAST = ADJ L 0§ 8 g\ T el Yy, X
ACTION = R1ADJS, NEXTC = N ; : -~ tal - ‘ 3

REDUCTION :
TRSENT BECOMES 2 :

{CPRFEP IN)ININT THE)(ADJ (ADJT LAST))U{ADJIS (ADJ (Q THREE)))I4 (N DAYS)(NP-B ,)(PRN YDU){(AUXT SHOULD){AUXT HAVE)
{V GIVEN)(PRN HIM){ADJT MORE)} (N MILK)

NEW STACK 3 13$4%648%1%

ACTION = Gl4 LAST" = AD.S

ACTION = R2ADJS, NEXTC = N

REDUCTION =

TRSENT BECOMES ! , % ,

{CPREP IN)ININT THE)(ADJS (ADJ (ADJT LAST))(ADJS (ADJ (Q THREE))))I+{N "DAYS)I(NP-B ,){PRN YJU)(AUXT SHOULD)
(AUXT HAVE)(V GIVEN)(PRN HIM)(ADJT MORE)}(N MILK)

NEW STACK 3 4%48%1%

ACTION®: LASY = ADJS
ACTION = ; NEXTC = N
ACTION = RlNMES,E‘.K_ NEXTC = NP-B

REDUCTION = :
TRSENT BECOMES : & “ _
(CPREP IN) (NINT THE) (ADJS (ADJ {ADYT LAST))(ADJS (ADJ (Q THREE))))(NNES (N DAYS))+(NP=B ,) (PRN YOU) (AUXT SHOULD)

{AUXT HAVE)LV ulifh)KDRﬁ HIM) (ADST MGRE)(N MILK)

NEW STAC

ACTIGN = G12 i
ACTION = R3SNP,
REDUCTION =
TRSENT BECOMES =
{CPREP INJ(SNP IININT THE)(ADAS (“DJ:
{AUXT SHOULD) {AUXT HAVE){V GIVEN)(PRN HIH

INES (N DAYS)))+(NP-B ,)(PRN YOU)

NEW STACK = 48%15%

ACTION = G2B LAST = SNP

ACTION = RICNP, NEXTC = NP-B
REDUCTION =

TRSFNT R)"GM 5.3

(PRN You
NEW STAC
ACTION : B8 & LA Lo My N aud Him
ACTION = RANP, | NEXTC =iNP-8 - ; e
REDUCTION g . '

TRSENT BECOMES :

Moore Business Forms, Inc sv

(CPREP IN) (NP (CNP (SNP (NINT THE)(ADJS (ADJ (ADJT LAST))(ADJS (ADJ (Q THREEJ)JIINNES (N DAYSII)) )+ (NP=B ») =
(PRN_YOU) (AUXT SHOULD)(AUXT HAVE)(V GIVEN)(PRN HIM)(ADJT MORE) (N MILK) ;
NEW STACK : 4851% gt

ACTION : G649 LAST = N 8P B T @@
ACTION = S50 NEXTC = NP-B B WY R T 4
ACTION = R3ADVP, NEXTG .= PRN ' ™ oo v WY

REDUCTION :
TRSENT BECOMES : e Ty

(ADVP (CPREP IN)(NP (CNP (SNP (NINT THE)(ADJS (ADJ (ADJT LAST)I(ADJS (ADJ {Q THREE)))DINNES (N DAYS))
1)) (NP=8 4)) 4 (PRN YOU) (AUXT SHOULD)(AUXT HAVE)(V GIVEN)(PRN HIM){ADJT MORE)(N MILK)

NEW STACK : 1% :

ACTION : G55 LAST4= ADVP

ACTIDN = R1ADVPS, i NEXTC =_PRN
REDUCTION : ko ca
TRSENT BECOMES : s ’ - ; . .

{ADVPS {ADVP (CPREP {N)iqp (er {SNP (NINF THE)(ADJS (ADJ (ADJT LAST))(A)JS%, DJ (Q THREE))))INNES (N DAYS)
1)) INP=8 ,)))#(PRN Y@U) {AUXT 'SHOULD) (AUXT HAVE){V GIVEN) (PRN HIM)(ADJT MOREI(N MILK)

NEW STACK : 1%

ACTION : G59 LAST = ADVPS
ACTION = 53 NEXTC = PRN
ACTION = RICNP, NEXTC = AUXT

REDUCTION :
TRSENT BECOMES 2
{ADVPS {ADVP (CPREP IN)(NP (CNP (SNP {NINT THE)(ADJS {ADJ {(ADJT LAST)){ADJS (ADJ {Q THREE))))}IINNES (N DAYS)

3)))IINP-B ,)))(CNP {PRN YOU) ) *{AUXT SHOULDI{AUXT HAVE){V GIVEN)}{PRN HIMY{ ADJT MORE)I{N MILK) _
NEW STACK : 59%1%

ACTION : G18 LAST = CNP ;

ACTION = RINP, NEXTC = AUXT

REDUCTION =

TRSENT BECOMES 3

(ADVPS (ADVP (CPREP _IN)(NP (CNP (SNP (NINT THE){ADJS (ADJ (ADJT LAST)I)(ADJS (ADJ (Q THREE))))(NNES (N DAYS)
11)II(NP=B ,)) ) ENP (CNP {PRN YOU)))}*{AUXT SHOULD) (AUXT HAVE)(V GIVEN) (PRN HIM)(ADJT MORE)(N MILK)
NEW STACK 3 59%1%

ACTION : G64 & TAST = NP
ACTION = $33 i EXToRE AUXTN
ACTION = R1AUK, W NEXTEOR = AUXT

REDUCTION : @8




